Solutions to exam in Optical Physics 110110
1-2

The only reasonable way to construct it is with an eyepiece made out of two lenses (or more).

One (not very good) example is an objective with f = 150 mm and an eyepiece with two f = 30 mm lenses
where the distance between the lenses can be varied between 0 and 30 mm. If the first eyepice lens is
chosen to diameter 20 mm the fov will be 3,8°
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The maximum angle outside the etalon is % 40 50 60 70 80 9
arctan (30/200 ) = 8.53°, which gives b =
5.53°
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2nd cos0° = pA and 2nd c0s5.53° = (p —40)A = d = =1.64 mm
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There will be four lines corresponding to twice the fundamental frequencu of the double slit



